Name: 4-Digit Subtraction with Zero

Ha, Ha, Haq, 'Plop!

Subtract to find the differences.
Then, find the answer to the riddle by matching the letters to the blank lines below.

03000 L5000 A6050  F5000  E 8008
=231 - 657 - 170 - b4y — 44y

> 3,006 H 7,000 U 9,000 D 1,100 E 4040
- 943 - /65 - 245 - 99 - 105

M 2,000 G 1,500 A 4,000 O 5,600 O 3,000

— 654 - 914 — 237 - 38 - 18
H 6,700 55,090 1,003 F 9,500 G 8,000
- 176 - 213 - 430 — 664 - /06
H 9203 13,050 E 1,400 N 3,000 N 4,600
- 4b6 - 634 - 304 - 999 ~ HéH

What goes, “Ha, ha, ha, plop”?

2463 2766 1,346 7564 2982 4136 3,935

1343 5880 8755 586 6,235 573 2001 7294 8747 246 4877

6524 | 096 3763 1,001 9512 8836 44b6
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